B icy Roll No.

No. of Questions — 30 SS_SO_Accountancy

No. of Printed Pages — 15

I= | €& GIET, 2015

SENIOR SECONDARY EXAMINATION, 2015

AETITE

ACCOUNTANCY
g 3 % qUE
quTish : 80

qHenferat % W0 A AS9

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

QeI FAYH 3T U9 U W A 3 FaEd: o |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

[t U 3T €
All the questions are compulsory

mmaﬂwﬁﬂéwmﬁé oG |

Write the answer to each question in the given answer-book
only.

S U H 3 b @UE ¢, 37 Gl o I Teh 9 & o1 |

For questions having more than one part, the answers to those
parts are to be written together n cont1nu1ty

U U % gl d ST ®URR A HAl FRR @ I / IR/
SYTHIE &9 T &1 99T & U9 i &l W&l 7 |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

i) T8 U UT S UG H TRE § — 3 AR |

i) @S ‘e W BEN b oY ATAHE

iii) @U@ F I 9T €, UAP 9T H G YT € | WA B HE Th
AT & T | Y91 I & HAT 8 |
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i)  This question paper contains two Parts — A and B.
iij) Part'A'is compulsory for all candidates.

iii) Part 'B' has two portions. Every portion has a set of seven
questions. Candidate can attempt only a set of seven
questions of any one portion.

7. @WUg YT =T 3h T U9
A 1-8 1
9-14 2
15-21 4
22 -23 6
q 24 - 25 1
26 - 27 2
28 - 29 4
30 6
AYAT

24 - 25 1
26 - 27 2
28 - 29 4
30 6

Part Question Nos. Marks per question
A 1-8 1
9-14 2
15-21 4
22 - 23 6
B 24 - 25 1
26 - 27 2
28 - 29 4
30 6

OR

24 - 25 1
26 - 27 2
28 - 29 4
30 6

8. U TE& 22 (WUS-A) TAT 30 (WUS-T) H 3 Tk Tehed € |

There are internal choices in Q. No. 22 ( Part-A ) and Q. No. 30
( Part-B ).
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Qg - A
PART - A

¥ 79 WEER N @ d # EH e A R [ WEER ¥ %9 S
o e St & 2

In which ratio amount of goodwill is divided among the old partners
when new partner brings cash for goodwill ? 1

‘TS WIRIGR % TER R G o R WISRRT St e S 17 a4 ?

"General reserve is distributed at the admission of new partner to old

partners." Why ? 1
3T AT 3R ST T H TH 3R o7 |
Write one difference between super profit and average profit. 1

3ihd, HIgd 3 qUF 2 : 2 : 1 SFAE § Y Sied gL TRRER &1 A
TR TEUT FIAT &, IHHT TN MU oIl & | FAT ST A e |

Ankit, Mohit and Deepak are partners sharing in the ratio of 2 : 2 : 1.
Mohit takes retirement and his share is taken by Deepak. Calculate
the new ratio. 1

T WEISRT BH % A i 90 H T BT AN @A’ % AT Sl hel Te
*G YT H g&ad ¥ AT AT § 2

On dissolution of a partnership firm, where and in which side is the

balance of 'the provision for Bad debts Account' transferred ? 1
I ST T 37 o |
Write the meaning of subscribed capital. 1

3T & T TTHA W 37 Yohad TS T & ST Gehell & 2

What is the maximum amount of discount which may be allowed on
reissue of shares ? 1

SROT T51 o IME O oTH ol & @d H e&ara {d ohal Sl & 2

Profit on redemption of debentures is transferred to which Account ?
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9. HIAl AR TN UH ®H H GERR ¢ FIAN BH T YIF T F qqT 5
500 To TS FHINT Tedieh HIE & 3ATH 7 600 To 3T HIdl &1 AT 10%
AMTH T T ST HAT ST €| T Ial 3T AT o TR0 W U a9 i AT
I TOMT |

Kavita and Manisha are partners in a firm. Kavita withdrew Rs. 500 on
the first day of every month and Manisha withdrew Rs. 600 on the last
day of every month. The interest is charged @ of 10% per annum.
Calculate the interest for one year on the drawings of Kavita and
Manisha. 2

10. TH ®H § IS GSl 5,00,000 Fo &1 TN Tl AHR X 8% &1 ®H *
3G &9 45,000 o (5,000 To THHT &1 & G ) &1 3T 4y & g
TH & SRIER @A T % Hod i TUHT i 5T |

Invested capital is Rs. 5,00,000 in a firm. Normal rate of profit is 8%.
Average profits of the firm are Rs. 45,000 ( after an abnormal loss of
Rs. 5,000 ). Calculate the value of goodwill at five times of the super

profit. 2

11. ICl, FH 3R UTeT CY-81= &l 2 : 3 : 4 o 3TUId | dted & | 37h! J&iehi |
36,000 To § TAIT Gl =HM €| U7 STIhe T80T FIal &1 3§ & @ d
HT JodiHT 63,000 o T HAT TAT| AT QAT J&IRl § Tal @A €1 T d
% T AU & ORI Sl Al i U |

Lala, Vikram and Pal are sharing profits in the ratio of 2 : 3 : 4.
Goodwill is appearing in the books of them at a value of Rs. 36,000.
Pal takes retirement. On that day goodwill is valued at Rs. 63,000. No
goodwill account is maintained in the books. Pass the necessary

journal entries for recording the treatment of goodwill. 2
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12. YT AU H WA = 1,000 MW 5%0 G MK X G, 39 99 9 TH
e g9 & 3T TY A AT | GROM ‘3’ & AR FHEA i G&IRT § AT
TOET Y T ST & g A i T Al Tl ST

X paid Rs. 5 per share on 1,000 shares in advance to Radha Ltd. one
month before from due date. Calculate interest in the books of the
company according to 'Table A' and pass necessary entry for Interest
paid in cash. 2

13. T3 AHSS 7 A0 8,000, 12% U 100 To dA 96 To WT UM
T Y E HH & U T hd | I HGRR il ST TS hl 5T |

Nidhi Tea Ltd. purchased for cancellation its 8,000, 12% debentures of
Rs. 100 each at Rs. 96. Make Journal entries for the above
transactions. 2

14, T NS % AER W TH WEER H E H W ool a7 H
TOMT IS T TEP! OIS ST WA HISU| Gl @i w1 AH A
15,000 To, TTeA W H oI T &G 35,000 o, T4 ®H i T T BRI
11,000 %o H|

On the basis of the following information calculate the amount to be
paid to a partner and pass necessary Journal entries of it. Debit
balance of capital account is Rs. 15,000, his share of profit on
realisation is Rs. 35,000, assets of the firm taken over by him for
Rs. 11,000. 2

15. dd*aﬁidqadwmﬁﬁa@m%léwaﬁiméﬁw% AT Y
H IMAA A & 54 FAdH 60,000 Fo A6 T i TR & STt & 1 39
TR % a’qnﬁ%mﬁawwaﬁﬂwaﬁaﬁ?ﬁa@m

HOET: 3 : 2 % UM H S8 HAT| 31 W, 2014 I FHE g a1t 315 a9
H %H H 1,00,000 o T T BT ¢ |

TT-2T 9 TS QAT 8T q7 o SIaq<0T hi STHel T S i ST |
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Vivek and Vedavrata are partners in a firm. They admit Indra Raj for

1

Z th share of profit in the firm, who is given a guarantee for minimum

profit of Rs. 60,000 yearly. The excess amount of profit given to him
above %th of the share under guarantee will be borne by old partners
in the ratio of 3 : 2 respectively. In the half year ending on 31st
March, 2014 the firm's profit amounted to Rs. 1,00,000.

Prepare Profit & Loss Appropriation Account and pass journal entry for

the distribution of profits. 4

16. 3TEXUT TS I[F M & ofT 3Ya9ash GHESH - & Ivdrd o, o 3R 9 6

TSt 99 & 3T W SEE: 25,000 o, 20,000 Fo T 15,000 Fo | g H

AT AT % UGSt W 10% SN &S 3R SERUT WSS FHS: 150 Fo,
100 To WE 50 Fo TNMT oI T | a9 T oF 10,000 To 7| I 30T
A 1,500 Fo, 1,000 To Wa 500 Fo &| WEER MI-eTAH 2:1:1%F
I | sied €1

WAl h GER & T g o 3T § 9T ¥ dfsedt i |

The capitals of A, B and C stood at Rs. 25,000, Rs. 20,000 and
Rs. 15,000 respectively after the necessary adjustments at the end of
the year in respect of drawings and net profits. Subsequently it was
found that interest on capital at 10% per annum and interest on
drawings Rs. 150, Rs. 100 and Rs. 50 respectively have been forgotten.
The profit of the year was Rs. 10,000. Their drawings were Rs. 1,500,
Rs. 1,000 and Rs. 500 respectively. Partners share profits and losses
in the ratioof 2:1: 1.

Pass necessary entries at the end of the year to rectify the accounts. 4

SS—30-Accountancy



17.

18.

19.

20.

7
T, 9% 31~ W TRERI H 2 : 3 : 1 30U § oMg-g7 7 sied & | a9 & UREY
T TaE ATHY TEU T & AN AT &Y 918 3R AS H 1,60,000 To
o J9 I €, S99 § 60,000 Fo & 3T € 3R 1,00,000 To A IaT ¢ | T
o STIHI TEUT & oI5 HH T 3 I8 H o9 2,40,000 To T |

T TMH-81F S ST i 0T X U §EdT Sa a1 ATy die st T afeed
! T |

X, Yand Z are partners sharing profits and losses in the ratio of
2 : 3 : 1. At the beginning of the year X retires after selling his share to
Y and Z for Rs. 1,60,000, out of which Rs. 60,000 being paid by Y and
Rs. 1,00,000 by Z. The profit of the firm for the year after X's
retirement is Rs. 2,40,000.

Calculate new Profit & Loss sharing ratio and pass entries for sales of

share and distribution of profit. 4

HERR] & FHOT 3R &H & G999 § s 9R 3 T @U|

Write any four distinctions between dissolution of partnership and

dissolution of firm. 4

TAYT AT & e AR ITAN o @

Write any four uses of securities premium. 4

TET oo § 5 %o WHIY W 10 Fo dlet 40,000 THAT 3T & W 3ac AR
g1 6 Fo YT 3 & MR W W FoT A T 3,00,000 o I gE |
AT &% THR & AT F ool ST TG EeT T Hl ST arelt T areear
FI S ST F 3T T A B Al a1 ST

Megha Ltd. had invited applications for 40,000 equity shares of
Rs. 10 each at a premium of Rs. 5 each. The total application money
received at Rs. 6 per share was Rs. 3,00,000. Specify the kind of
subscription and pass entries for application, while extra amount is to
be refunded. 4
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21. WA AHES 7 100 To o 2,000, 12% FOTTH T 10% FATS W T Td

HAT, AHT IMET 5% WHIH W HAT ST &1 FHHAT Bl [l § 9H
ST T o &1 ST, I SHOGET U IH Shi 8T hi 379 of W AT & |

2,000, 12% debentures of Rs. 100 each were issued at 10% premium
by X Ltd. but redeemable at 5% premium. Pass necessary journal
entries in the books of company if loss on issue of debentures is to be

written off. 4

22. aaﬁaww%wﬁﬁs&ﬁaﬁzﬁ%laqﬁwﬁ% T &

T WA hd &, ST o 3 a4 F gRT N 1 SR | | o a9 & T
TH T TgT T YhR AT

%o %o
3 T Gl 50,000 | TR 35,000
 # T 30,000 | wrer 15,000
R 16,000 | i 10,000
SR 4,000 | 5 40,000
1,00,000 1,00,000

| & YA B AT T AT
i) WU T F S qAT B F % AT 30,000 Fo A

i) WY @ T FH GodichT 3T AT 8,000 To F M I8 & HA % SRIER
T T &

iii) TR, HAER TS Wi H oA SFA: 30,000 To, 12,000 Fo TH

8,000 Ho YT HAT AT T |

SRIE T3 ¥ STEvae STet T At st 5u |
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A and B share the profits of a business in the ratio of 5 : 3. They

admitted C into the firm for %th share in profits which is to be

contributed equally by A and B. On the date of admission of C the

Balance Sheet of the firm was as follows :

Rs. Rs.
A's Capital 50,000 [ Machinery 35,000
B's Capital 30,000 | Furniture 15,000
General Reserve 16,000 | Stock 10,000
Creditors 4,000 [ Bank 40,000
1,00,000 1,00,000

Terms of C's admission were as follows :
i) C will bring Rs. 30,000 for his share of capital and goodwill.

ii)  Goodwill of the firm has been valued at 3 years' purchase of the

super profit Rs. 8,000.

iii) Machinery, furniture and stock are revalued at Rs. 30,000,

Rs. 12,000 and Rs. 8,000 respectively.

Pass necessary journal entries from the above information. 6
JqAT / OR
3 SR o TN BT 2 : 3% A H dfed & | 31 TTH, 2014 il ITHT T T
UhIT 4T :
gl
o o
TeR 18,000 | T 5,000
i TR 40,000
3T 60,000 RIS 2,000 | 35000
g 90,000 1,50,000 | ¥Th 52,000
31 I Tl ST 0T 32,000 | FRIART 40,000
q9q g 9o 65,000
2,00,000 2,00,000

SS—30-Accountancy
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AT ALl FERT 7 ®H I T A 1 AT HAT| G & T
I A S

WIH T 45,000 Fo, TR ¥ &I oI FH 20% FY, ITRRI ¥ 35,000 Fo,
g7 a1 99 ¥ JEF Jod ¥ 35,000 Fo T ¥FH | THGRI 7 17,000 Fo AT

WIHR FHAT| 3 = T T T 33,000 Fo H T I ST AA AT | TGeAl A

1,500 %o gTI

gt WIdT, WRIERT & YSil @ q1 Jehe WMAT TaR |

A and B are sharing profits in the ratio of 2 : 3. Their Balance Sheet as

on 31st March, 2014 was as follows :

Balance Sheet

Rs. Rs.

Creditors 18,000 | Cash 5,000
Capitals Debtors 40,000

A 60,000 - Provision 2,000 38,000

B 90,000 1,50,000 | Stock 52,000

A's wife's loan 32,000 | Machinery 40,000

Land & Building 65,000

2,00,000 2,00,000

Partners decide to dissolve the firm on the above date. Assets were

realised as follows :

Stock Rs. 45,000, Machinery 20% less than book value, Debtors
Rs. 35,000, Land & Building Rs. 35,000 more than book value.
Creditors agreed to accept Rs. 17,000. A took the liability to pay
Rs. 33,000 for his wife's loan. Realisation expenses amounted to
Rs. 1,500.

Prepare Realisation Account, partners' Capital Accounts and Cash

Account. 6

SS—30-Accountancy
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23. THYI AHIE 7 100 o et 1,000 THAT 379 5% I W T HI HT| TTAH

T YN BT T

e T 30 %o, 3MEed W 35 To T Iradl W 30 To | 980 ¥ & oW
3T U §U| G STEgeh! ol T Y AT 77| Uh SWERI STqh I
30 319 & 7 3TEeA H IAH &l HAT| IHeh 3 I o FX AT TAT| TH
I SYER] ST U 20 A F F AT 1 A T HAT| Ik A

f STed X TAT| A% H Sed U WX Y 90 Fo T T I F W ¥ YURT €

H 4 TG X J97 T4

AT I The T8l I130 Td S H o1 i 50 |

Mukesh Ltd. issued 1,000 equity shares of Rs. 100 each at

5% discount payable as follows :

Rs. 30 on application, Rs. 35 on allotment and Rs. 30 on call
Applications were received for 980 shares and full allotment was made.
One shareholder holding 30 shares failed to pay allotment money and
his shares were forfeited. Another shareholder holding 20 shares
failed to pay call money and his shares were also forfeited. Later on all

the forfeited shares were reissued @ Rs. 90 per share as fully paid up.

Prepare company's Cash Book and make journal entries. 6

SS—30-Accountancy [ Turn over



24.

25.

26.

27.

28.

12

ug - §

PART - B
U ‘T’ % I WA T, TA® WAT § QA U9 F | qdiemeft wt wdt g 9t
% quft | Tl HT TA HEAT T

Part 'B' has two portions. Every portion has a set of seven questions.
Candidate can attempt only one set of seven questions of any one

portion.

ehg YaTE TR0 W 3T HT FEI € ?

What do you mean by 'Cash flow statement' ? 1
he YATE TER0T Y his Th AT T @I

Write any one limitation of cash flow statement. 1

T IS @ Y S @Al TR Y ST I T BN
F S T U 9 I 60,000 To AT AT T 20,000 Fo | T4 & IR

80,000 To I X & o1d WaYH 4T

Calculate the amount of Tax paid by preparing Provision for Tax

Account from the following information :

Opening balance of provision for tax Rs. 60,000 and closing balance

Rs. 20,000. During the year provision made for tax Rs. 80,000. 2
TAATHR ¥% 9 79 37 g § ?
What do you mean by common size Balance Sheet ? 2

T GES ¥ (i) TR A UM, (i) T UM, (iii) T TEOH oy
3T, (iv) & AT U AT i
THT 2,00,000 Fo, I T U I A 1,20,000 To, WMHTAH =

20,000 To, =h! FF 15,000 To, T T & 10,000 To, TTAM T 3
5,000 %o |

SS—30-Accountancy



Calculate (i)

13

Gross profit ratio, (ii) Operating ratio, (iii)

Operating

profit ratio, (iv) Net profit ratio from the following information :
Sales Rs. 2,00,000, Cost of Goods sold Rs. 1,20,000, Administration

expenses Rs. 20,000, Selling expenses Rs.
Rs. 10,000, Income from investment Rs. 5,000.

29. THAEd FERUN ¥ UIACH HATSl & Uhs JaE AT i 57T :

GIGEIEREIG)
T @
ST HIET

=
TEET ST
I @

a¥ 2014
(¥o)
1,10,000
50,000
24,000
80,000
8,000
26,000

15,000, Loss by fire

4

a€ 2013

(Fo)
1,20,000
62,000
42,000
76,000
4,000
38,000

Compute cash flow from operating activities from the following

details :

Profit and Loss Account
Accounts receivable
Outstanding Rent
Goodwill

Prepaid Insurance
Accounts payable

Year 2014
(Rs.)
1,10,000
50,000
24,000
80,000
8,000
26,000

30. T gEAIS ¥ YHHRRR 3T FeR0T FARY

a¥ 2013
(®o)
dshq 5,00,000
s T O Hl THT H 60%
S| HFHA AT T 40%
T T
IR

SS—30-Accountancy
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Year 2013
(Rs.)
1,20,000
62,000
42,000
76,000
4,000
38,000

I€ 2014

(¥o)

6,00,000
THT T 70%

TEHA AT T 30%

F W TG G A F 30% FR F Jd IF AT H 30%

[ Turn over



Prepare common
information :
Sales

Cost of Goods sold
Indirect Expenses

Income Tax

14

size Income statement

Year 2013
(Rs.)
5,00,000

60% of Sales
40% of Gross Profit

30% of Net Profit

from the following

6

Year 2014
(Rs.)
6,00,000

70% of Sales
30% of Gross Profit

30% of Net Profit

before Tax before Tax
YAt / OR
e < TS gEATeT ¥ qeicHs 3T JeRUT AR Wi ST
31 T, 2013 31 WTs, 2014
(%o) (%0)
dshq 2,00,000 3,00,000
EXl 1,00,000 2,00,000
Sl TR HIel <l ST 1,20,000 2,10,000
UMY A T Hehel o bl 10% Hhel Y Rl 5%
A hI 30% 30%
From the information given below prepare comparative Income
statement : 6
31st March, 2013 31st March, 2014
(Rs.) (Rs.)
Sales 2,00,000 3,00,000
Purchases 1,00,000 2,00,000
Cost of Goods Sold 1,20,000 2,10,000
Administrative Expenses 10% of Gross Profit 5% of Gross Profit
Income Tax 30% 30%
YAt / OR

SS—30-Accountancy



24.

25.

26.

27.

28.

29.

30.

15

gueg -
PART - B
TrFRETR 1§ 2
What is software ? 1
CAS I T3 ¥ &I 50|
Define CAS. 1

ST TIGIR i TETIHAT o o1 e IR a5 AGT|

Write any four points of need for computer accounting. 2
TG HRER o 919 A G |

Write the names of accounting softwares. 2
G I Ul & 329l T FUH i 5 |

Explain the purposes of Accounting Information System. 4

G B geidel T SISINC i ST ITAT T FU i 57T |

Explain the utility of electronic spreadsheet in accounting. 4

SQL ¥ TN && A a6l 7 & @d HHVSH & 3e¥d T T2 A G :

iy  SELECT
i) CREATE
iijjy INSERT

iv) DELETE.

Write the purpose and syntax of the following commands used in

SQL : 6
i) SELECT

ii) CREATE

iijj INSERT

iv) DELETE.
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